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Reading Comprehension

Inter cropping

Intercropping is the agricultural practice of cultivating two or more crops in the same space at
the same time. A practice often associated with sustainable agriculture and organic farming,
intercropping is one form of poly culture, using companion planting principles. It is commonly
used in tropical parts of the world and by various indigenous peoples, but in the mechanized
agriculture of Europe, North America, and parts of Asia it is far less widespread. Intercropping
may benefit crop yield or control of some kind of pest, or may have other agronomic benefits. In
intercropping, there is often one main crop and one or more added crops, with the main crop
being the one of the primary importance because of economic or food production reasons. The
two or more crops used in an intercrop may be from different species and different plant
families, or they may simply be different plant families, or they may simply be different varieties
or cultivars of the same erop species, such as mixing two kinds of wheat seed in the same field.
The most common goal of intercropping is to produce a greater yield on a given piece of land by
making use of resources that would other wise not be utilized by a single crop. Careful planning
is required, taking into account the soil, climate, crops, and varieties. It is particularly important
not t have crops competing with each other for physical sace, nutrients, water, or sunlight.
Examples of intercropping strategies are planting a deep-rooted crop with a shallow-rooted crop,
or lanting a tall crop with a shorter croop that requires partil shde. When crops are carefully
selected, other agronomic benefits are also achied lodging-prone plants (those that are prone to
tip over in wind or heavy rain) may be given structural support by their companion crop Delicate
or light sensitive plants may be given shade or protection, or other wise wasted space can be
utilized. An example is the tropical multi-tier system where coconut occupies the upper tier,
banana the middle tier, and pineapple, ginger, or leguminous fodder, medicinal or aromatic
plants occupy the lowest tier. Inter cropping of compatible plants also encourages biodiversity,
by providing a habitat for a variety of insects and soil organisms that would not be present in a
single crop environment.

1. What is the main author's opinion in this passage?
1) A kind of plant and it's culture system
2) A kind of agriculture practice and different aims for this practice
3) Description of some agricultural system in tropic zones
4) Some benefit usage of tropical crops
2. "Companion" in line 3, means:
1) associate 2) corresponding
3) aggregation 4) accumulation
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3. "It" in line 3, is referred to:

1) nothing 2) principle 3) intercropping 4) polyculture
4. According to the passage, the most common goal of intercropping is:

1) careful planning and taking into soil

2) produce more yield in a given piece of land

3) reduce prevalence of pests and disease

4) saving nutrients, water, or sunlight in a piece of land
5. "Delicate" in line 18, means:

1) sharp 2) resistance 3) sensitive 4) vigorous

Dry land farming

Dryland farming is an gricultural technique for cultivating land which receives little rainfall. Dry
land farming is used in the great plains, the Palouse lateau of Eastern Washington, and other arid
regions of North America, the Middle East and in other grain growing regions such as the
steppes of Eurasia and Argentina. Dryland farming was introduced to the southern Russian
Empire by Russian Mennonites under the influence of Johann Cornies, making the region the
bread basket of Russi. Winter wheat is the typical crop although skilled dryland farmers
sometimes grow corn, beans or even watermelons. Successful dryland farming is possible with s
little as 9 inches (230 mm) of precipitation a year, but much more successful with 20 inches (510
mm) or more. Native American tribes in the arid SouthWest subsisted for hundreds of years on
dryland frming in ares with less than 10 inches (250 mm) of rain. Dry land farming has evolved
as set of techniques and management practices used by farmers to continually adapt to the
presence or lack of moisture in a given crop cycle. In marginal regions, a farmer should be
financially able to survive occasional crop failures, perhaps of several years running. Survival as
a dryland farmer requires careful husbandry of the moisture available for the crop and aggressive
management of expenses in order to minimize losses in poor years.

1. "which" in line 1, referred to:

1) Dry land 2) Farming 3) hand 4) Cultivating land
2. According to the text, which plant is best for dryland farming?
1) wheat 2) winter wheat 3) spring wheat 4) it is not important point

3. According to the text, which one is very important in dry land farming?
1) careful husbandry of the moisture available for the crop
2) aggressive management
3) kind of plant which is cultivated as dryland farming
4) all of them
4. The best successful dryland farming:
1) can be done in areas with more than 510 mm of rainfall
2) can be done in areas with more than 250 mm
3) can be done in areas with about 20 inches of precipitation
4) can be done in all arid regions
5. According to the text, which region is not mentioned in concern with dryland farming?
1) United 8tates of America 2) Middle East
3) Russia 4) Eastern Asia
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Depletion

Soil depletion occurs when the components which contribute to fertility are removed and not
replaced, and the conditions which support soil fertility are not maintained. This leads to poor
crop yields. In agriculture, depletion can be due to excessivel intense cultivation and inadequate
soil management. One of the most widespread occurrences of soil depletion as of 2008 is in
tropical zones where nutrient content of soils is low. The combined effects of growing
population densities, large-scale industrial logging, slash-and-burn agriculture and ranching, and
other factors, have in some places depleted soils through rapid and almost total nutrient removal.
Topsoil depletion is when the nutrient rich organic top soil that takes hundreds to thousands of
years to build up under natural conditions is eroded or depleted of its original organic material.
Historically, many past civilizations collapses can be attributed to the depletion of the topsoil.
Since the beginning of agricultural production in the Great plains of North America in the 1880s
about one half of its topsoil has disappeared. Depletion may occur through a variety of other
effects, including overtillage which damages soil structure, everuse of inputs such as synthetic
fertilizers and herbicides, which leave residues and buildups that inhibit micro organisms.
Erosion is the removal of soilids (sediment, soil, rock and other particles) in the natural
environment. It usually occurs due to transport b wind, water, or ice; by down-slope creep of soil
and other material under the force of grauity; or by living organisms, such as burrowing animals,
in the case of bioerosion. Erosion is distinguished from weathering, which is the process of
chemical or physical breakdown of the minerals in the rocks, although the two processes may
occur concurrently. Erosion is a noticeable intrinsic natural process but in many places it is
increased by human land use. Poor land use practices include deforestation, overgrazing,
unmanged construction activity and road-building. Land that is used for the production of
agricultural crops generally experiences a significant greater rate of erosion than that of land
under natural vegetation. This is particularly true if lillage is used, which reduces vegetation
cover on the surface of the soil and disturbs both soil structure and plant roots that would other
wise hold the soil in place. However, improved land use practices can limit erosion, using
techniques such as terrace-building, conservation tillage practices, and tree planting. A certain
amount of erosion is natural and, in fact, healthy for the ecosystem. For example, gravels
continuously move downstream in watercourses. Excessive erosion, however, does cause
problems, such as receiving water sedimentation, ecosystem damage and outright loss of soil.

1. "which" in line 2, is referred to:

1) Fertility 2) soil deletion 3) conditions 4) removed and not
replaced
2. What is the main cause of soil depletion in farming?
1) Poor crop yielding 2) Decrease nutrient content in soil
3) Natural environment and nature 4) Intense cultivation and mismanaging
3. "widespread" in line 4, means:
1) Important 2) global 3) major 4) vital

4. According to the text, what is the main idea for term "soil depletion"?
1) Poor soil fertility
2) Remove the fertile layer of soil because of many factors
3) Extensive agriculture and soil nutrient
4) Soil management
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5. According to the text, what is the main factors in soil erosion?

1) wind, water and ice 2) biologic factors
3) synthetic fertilizers and her bicides 4) weathering
Maize

Maize is widely cultivated throughout the world, and a greater weight of maize is produced each
year than any other grain. While the United States produces almost half of the world's harvest
(42.5%), other top producing countries include China, Brazil, Mexico, Argentina, India and
France. World wide production was around 800 million tones in 2007- just slightly more than
rice (600 million tonnes) or wheat (600 million tonnes). In 2007, over 150 million hectares of
maize were planted world wide, with a yield of 1970.9 kilogram/hectare. Production can be
significantly higher in certain reions of the world, 2009 forecasts for production in lowa were
11614 kg/ha. Because it is cold-intolerant, in the temperate zones maize must be planted in the
spring. Its root system is generally shallow, so the plant is dependent on soil moisture. As a C4
plant (a plant that uses C4 carbon fixation), maize is a considerably more water-efficient crop
than C3 plants (plants that use C3 carbon fixation) like the small grains, alfalfa and soybeans.
Maize is most sensitive to drought at the time of silk emergence, when the flowers are ready for
pollination. Maize used for silage is harvested while the plant is green and the fruit immature.
Sweet corn is harvested in the "milk stage"”, after pollination but before starch has formed,
between late summer and early to mid-autumn "Field maize is left in the field very late in the
autumn in order to thoroughly dry the grain, and may, in fact, sometimes not be harvested until
winter or even early spring.

1. According to text, which one is best explain the main idea for this passage?

1) Maize morphology 2) Maize production around the world
3) Maize environment requirements 4) Maize anatomy
2. "Forecast" in line 7, means:
1) yield 2) harvest 3) anticipate 4) perception
3. "when" in line 11, is referred to:
1) Maize 2) sensitive 3) silk emergence time 4) drought
4. According to the text, what is the Maize production rank in the world in 2007?
1) First 2) Second 3) Third 4) Fourth
5. According to the passage, when is the time of sweet corn harvesting?
1) after pollination 2) before the starch formation
3) in milk stage 4) all of them
Polyploidy plants

Polyploidy is pervasive in plants and some estimates suggest that 30-80% of living plant
species are polyploidy, and many lineages show evidence of ancient polyploidy (paleopoly
ploidy) in their genomes. Huge explosions in angiosperm species diversity appear to have
coincided with the timing of ancient genome duplications shared by many species. It has been
established that 15% of angiosperm and 31% of fern speciation events are accompanied by
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ploidy increase. Polyploid plants can arise spontaneously in nature by several mechanisms,
including meiotic or mitotic failures, and fusion of unreduced (2n) gametes. Both
autopolyploids (eg. Potato) and allopolyploids (eg. Canola, wheat, cotton) can be found among
both wild and domesticated plant species. Most polyploids display hetrosis relative totheir
parental species, and may display novel variation or morphologies that may contribute to the
processes of speciation and eco-niche exploitation. The mechanisms leading to novel variation
in newly formed allopolyploids may include gene dosage effects (resulting from more
numerous copies of genome content), the reunion of divergent gene regulatory hierarchies,
chromosomal rearrangements, and epigenetic remodeling, all of which affect gene content
and/or expression levels. Many of these rapid changes may contribute to reproductive isolation
and speciation. Lomatia tasmanica is an extremely rare Tasmanian shrub which is triploid and
sterile, and reproduction is entirely vegetative with all plants having the same gentic structure.
There are few naturally occurring polyloid conifers. One example is the giant tree sequoia
semperviens or coast Redwood which is a hexaploid (6x) with 66 chromosomes (2n=6x=66),
although the origin is unclear.

1. What is the main idea for this passage?
1) plant speciation
2) A comparison between angiosperms and ferns
3) A comparison between autoploidy and alloploidy
4) polyploidy inplant species
2. According to the text, how much of angiosperms have a ploidy increase in their genome?

1) 31% 2) 30-80% 3) 15% 4) 66%
3. "pervasive" in line 1, is closest in meaning to:

1) phenomenon 2) major 3) common 4) important
4. According to the text, which plant are autoploid and alloploid respectively?

1) potato-cotton 2) cotton-potato 3) canola-wheat 4) wheat-cotton
5. Based on the text, which plant or plants have an asexual reproduction?

1) Wheat, cotton and canola 2) Fern speciation

3) Potato 4) Triploid and sterile plants
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Vocabulary Test
1. Cholophyll-bearing cells have the ............. to form carbohydrates.
1) vapor 2) absence 3) ability 4) productivity
20t Are heavy soils.
1) sands 2) silts 3) Loams 4) Clays
3. The practice of growing crops to be ploughed into the soil is known as:
1) rotation 2) green manuring
3) fertilization 4) seed bed preparation
4. The length of time for which seed may remain capable of germinatin is the period of:
1) viability 2) vitality 3) dormancy 4) rest
S. "Sowing' means:
1) seed planting 2) seedling emergence
3) ploughing 4) bed preparation
6. Yellow leaves are indicators of ............. .
1) excessive nitrogen 2) lack of nitrogen
3) sufficient nitrogen 4) available nitrogen
7. Lodging is the result of ........... .
1) nitrogen deficiency 2) heat injury
3) water stress 4) excessive nitrogen
8. A herbicide which eradicates all plants on contact is called ............ .
1) selective 2) non-selective 3) weed Killer 4) both 1 and 3
9. The leaves of monocotyledons are .......... by parallel veins.
1) infected 2) spotted 3) characterized 4) multiplied
10- "Triticale" is the result of crossing between wheat and ............ .
1) oat 2) barley 3) rye 4) millet
11- Which of the following crops is classified as "pulses"?
1) peas 2) lentils 3) vetch 4) all of them
12- In the scientific name of plants, the genus name always comes .......... species name.
1) after 2) with 3) before 4) following
13- The period between pollination and physiological maturity is called .............. .
1) economic maturity 2) commercial maturity
3) grain filling period 4) grain filling rate
14- The loss of water vapour from leaf surface is ............ .
1) evaporation 2) evapotranspiration 3) osmosis 4) transpiration
15- High flour quality is a good ......... for wheat.
1) cultivation 2) gene 3) genotype 4) trait
16- The backcross means cross of an F1 plant with ............
1) another F1 2) an F2 plant 3) one of its parents  4) another backcross
17- Chlorophyll- bearing cells have the .......... to from carbohydrates.
1) capacity 2) energy 3) necessity 4) pressure

18- Older methods of crop production have been altered. Altered means:
1) changed 2) desired 3) followed 4) required
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19- With correct ........... of the weather, farmer can plan work better.
1) duration 2) formation 3) forecast 4) operations
20- Soil textures can be studied by examining soil ............
1) Fertilizers 2) Nutrients 3) Operations 4) Samples
21- Barley ranks below wheat, corn, rice and probably oats total world ............. .
1) productive 2) production 3) produce 4) productively

22- Multicellular organisms have tissues of different kinds. Tissues are collections of

1) cells 2) elements 3) organisms 4) organs
23- When manure is used as fertilizer, the soil ............ from its nutrients for several
growing seasons.

1) adopts 2) benefits 3) obtains 4) trace

24- A plant exposed to poisonous chemicals may die if action is not quickly taken to ..........
to the poison.

1) counteract 2) dissolve 3) stunt 4) translocate
25- A double cross is a cross between .............. .

1) many inbred-lines 2) two single crosses

3) two in bred-lines 4) single cross and an inbred-lines
26- Variation induced in somatic cells in vitro is called ............. .

1) Gametoclnal variation 2) Genetic variation

3) Mutation 4) Somaclonal variation
27- The loss of a a segment of chromosome is .............. .

1) crossover 2) duplication 3) deletion 4) inversion
28- In wheat, the space between the nodes of a culm is called ............. .

1) internode 2) intranode 3) nodal space 4) nodal segment
29- i is expressed as the roportion of genetic to genetic plus environmentalll
caused variation.

1) additive genetic variation 2) dominance gentic variation

3) heritability 4) mass selection
R | E is the undeveloped plant contained in a seed.

1) embryo 2) ovary 3) pollen 4) spore
31- Maturation if male and female parts of a flower at different times is called ............. .

1) autogamy 2) dichogamy 3) monogamy 4) synchrony
32- plants which have a low requirement for water are called ............ .

1) hydrophytes 2) mesophytes 3) halophytes 4) xerophytes
33- A mass of undifferentiated cells is called ............. .

1) calose 2) callus 3) meristem 4) tissues
34- Shorter stems are associated with decreased ................. .

1) lodging 2) more leaves 3) sterility 4) viable tillers
35- Lint yield in cotton with ............. Number per unit area.

1) bolls 2) caropsis 3) pods 4) spikes
36- The loss of water vapor from leaf surface s ................ .

1) evaporation 2) evapotranspiration 3) 0Smosis 4) transpiration

37- Pollination and fertilization is an unopened flower bud is called:
1) cleistogamy 2) chasmogamy 3) protogyny 4) protandry
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R S, contain all four floral organs:
1) complete flowers 2) perfect flowers
3) staminate flowers 4) wheat flowers
39- A parasite unable of infected and cause disease in a host plants is known as ............ .
1) bacterium 2) multivalent
3) multiporous 4) multiline

40- The portion of the phenotypic variablitiy of a trait that can be assigned to genetic
variability is known .............. .
1) gene action 2) genetic variance 3) heredity 4) heritability

41- Now let's go ............ to our weather forecaster, Mary.
1) on 2) out 3) over 4) against
42- Then the clouds will ............. further south in the afternoon.
1) transport 2) convey 3) direct 4) move
43- Unfortunately the dust storms tend to ............ the view of the planet.
1) fog 2) obscure 3) confuse 4) darken
44- Scientists have been .............. through data from an orbiting satellite.
1) combing 2) scratching 3) brusting 4) scaling

45- A long, ling time ago there were two frogs who thought it would be a good idea to
1) goonanouting 2) go outing 3) go out 4) out go

46- Pollen dispersal mechanism in alfalfa in which the stamina column is sprung free of

the keel and exposed:

1) bolting 2) rouging 3) tripping 4) anthesis
47- The rudimentary plant in aseed,

1) embryc 2) egg 3) zygote 4) seedling
48- Percent impurity in a seed sample:

1) ditcher 2) dodder 3) dock 4) dockage
49- Sudden and usually widespread development of a disease in a plant:

1) hypersensitivity 2) gene deployment

3) epiphytotic 4) vulnerability
50- A plant the remains alive more than two years is called ............. .

1) annual 2) biennial

3) perennial 4) transient
51- Most farming operations cannot be .............. in winter.

1) watched 2) carried out 3) drid out 4) irrigated
52- The scientific name of an organism is formed by stating its ................. .

1) genus and species 2) kingdom and phylum

3) phylum and class 4) order and family
53- Air and water can easily pass through soils which ............... .

1) are make up of clay 2) feel ver smooth

3) form a good crumb-structure 4) have silt
54- Dicots, but not monocots, have ................. .

1) only one seed leaf 2) two seed leaves

3) more than two seed leaves 4) several seed leaves
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55- When soil is burned, ..............

1) the mineral portion is decomposed 2) its mineral particles are burned
3) the living matter in it is retained 4) its organic matter is destroyed
56- There s ............ relation between leaf area duration (LAD) and biological yield (BY).
1) positive and direct 2) positive and indirect
3) negative and direct 4) negative and indirect
57- The rapid growth of a seeding results in the .............. of the stem.
1) transpiration 2) derivation 3) mongnifieation 4) elongation
58- Which part of the soybean seed does not belong to the embryo?
1) Epicotyl 2) Cotyledon 3) Testa 4) Radicle
59- The portion of the istil that receives the pollen is .............. .
1) ovule 2) stigma 3) ovary 4) style
60- Which groups of below crops planted with palea and lemma?
1) Rice- Barley-Millet 2) Barley-Rye- Rice
3) Sorghum-Barley- Corn 4) Wheat-Millet-Sorghum
61- A plant is adapted to growing is areas with low or irregular supplies of water is called
1) glycophyte 2) mesophyte 3) halophyte 4) xerophytes
62- To supply energy to the organism, .............. is broken down.
1) an element 2) one cell 3) a living thing 4) protoplasm

63- Cells containing chlorophyll ..............
1) form cabohydrated by using radiant energy
2) serve as the basic substance in the food materials of plant.
3) transform chemical energy into radiand energy.
4) provide light and warmth for plants.
64- Metabolism refers to the ............... a living organism.
1) process by which cells are organized into groups in
2) process by which cells are divided in
3) total of the chemical processes of
4) reproduction process of
65- A scientist should know a lot about the principles of his science. Principles are basic

1) plan 2) theories 3) truths 4) goals
66- Todecrease CO:2 concentration in the environment ............. NAR and ..............
CGR respectively.

1) increase, increase 2) increase, decrease

3) decrease, decrease 4) decrease, increase
67- Cereal stubbles are an example of ..............

1) plants which die down 2) crop remains

3) green manuring 4) farmyard manure

68- In a crop with increasing light intensity, if we assume RGR is constant, from right to
left which factor increase and which factor decrease respectively?

1) LAD, CGR 2) LAR, NAR

3) NAR, LAR 4) CGR, LAD
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69- Autumn and spring are the best season, for sowing because of ............. .
1) sufficient warmth and moisture 2) dry and cold conditions
3) rises and falls in the temperature 4) periods of frost and drought
70- Higher plants and plants called bacteria differ in their need for one thing namely

1) soil 2) air 3) water 4) light
71- Vegetative cover controls erosion by .............. .

1) reducing the beating force of the rain.

2) diminishing the amount of top soil.

3) stopping the soil- forming processes.

4) reducing the absorptive capacity of the soil.
72- In practice of strip- cropping, the land .............. .

1) is soon left bare

2) is used for close grazing

3) is always covered with crops in some places

4) is planted with a single crop
73- If the soil — forming processes of nature replace the top soil at the same state that is
eroded, there will be ..............

1) an enormous amount of erosion 2) a state of equilibrium

3) an absence of plant cover 4) a serious loss of fertility
74- Monocot and dicot leaves are similar in .............

1) their function in photosynthesis 2) the patterns of their veins

3) their form of attachment of stem 4) the general shape of the leaf

75- The transpiration of water from leaves ............. .
1) is caused by the downward movement of water.
2) causes the stem to draw water from leaves.
3) is caused by water pressure in the stem.
4) causes the water in the stem to rise.
76- Non-selective herbicides may be used ............. .
1) directly on young crop seedling
2) before the emergence of crop plants
3) indirectly by spraying them on windy days
4) in order to remove crtain weeds from certain crops.

77- Pathogens are ...............

1) micro-organisms living on- plant hosts  2) parasites which cause plant disease

3) the cause of deficiency diseases 4) non-parasitic species of fungi and bacteria
78- Plant roots can absorb nitrogen, carbon, hoshorus, and potassium ............

1) in all forms available in the soil. 2) whenever they are abundant in the 50|I

3) directly from dead plants and animals 4) only in the forms of certain compounds
79- Crop growth rate (CGR) and net assimilation rate (NAR) are 20 gr/m? day and 2.5
gr/m? day respectively. Leaf area index (LAI) is ............ .

1)8 2)5 3)4 4) 2
80- The distribution of the microbes in the soil depends on ............. .
1) the weight of the soil 2) the depth of the soil

3) their surface area 4) their weight
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Free Reading

Passage 1:

When plant groth is abnormal, it may be difficult to discover which nutrients are lacking because
similar symptoms develop from different causes. Yellow leaves, for example, are often caused
by a lack of nitrogen, but they may also be caused by other factors; in sugar beets, a lack of
manganese causet leaf yellowing. A scientific method for discovering which nutrients are
required by certain plants is to limit the supply of nutrients one at a time. If the lack of one
nutrients causes abnormal growth, and the plant grows normally when that nutrient is replaced,
then that element is proved essential for the plant's growth. Of course, control plants must be
used in such experiments so that only one factor is studied in each test.
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Passage 2:

The goal of an insect as it flies from flower to flower is a sweet substance, deep inside the
flower, which is known as nectar. To reach the nectar, the visiting insect must dive down into the
flower, past the stamens and the pistil. Pollen grains from the stamens cling to the insect's body.
Some of the grains then rub off on the pistils as the insect dives into different flowers in search
of nectar. This is one of nature's ways of fertilizing the ovules so that they can grow into seeds.
In fact, the role of insects in pollination is so important that farmers sometimes rent hives of bees
to help pollinate the blossoms of their fruit trees.
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Passage 3:

During the daytime, plant leaves absorb much more solar energy than they can use in
photosynthesis; the excess solar energy is transformed into heat. If the heat is not dissipated, it
will raise the temperature of the leaf so high that the leaf cells are killed. One important way of
dissipating this heat is by transforming water from the leaf cells into vapor, which escapes
through the stomata in the transpiration process. As leaf cells lose water, they obtain more water
from the conductive tissues, which draw up water from the roots. In general, more than 95% of
the water that enters the roots moves up through the xylem and is lost in the form of water rapor
through the transpiration process.
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Passage 4:

In dryland farming, the tillage interval for the period from harvest to planting of continuous
wheat is critical for optimum production. During this period, cultivation as frequently as every
two weeks is unnecessary, but weeds must be controlled before they reach a stage of growth
when they consume water rapidly. The optimum tillage interval is about four weeks if the initial
tillage is done immediately after the harvest. Early initial tillage following harvest is more
beneficial than late tillage regardless of the equipment used. Late initial tillage permits weeds to
reach the stage when they require large amounts of water, and, as arule, larger weeds are more
difficult to control.
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Passage 5:

Wheat is the most important cultivated crop in Iran, where 2.6 million hectares were produced in
dryland conditions in 1972. The average yields through traditional production methods of 300-
400 kg/ha in areas receiving about 350 mm of precipitation annually and 700 kg/ha in areas
receiving 450 mm annually could be increased by improved weed control alone. Self-sufficiency
in wheat production could be attained by improved management and weed control. Impreved
management in crop production, however, cannot be achieved without improved animal and
range management, for the natural forage that provides to percent of Iran's livestock feed is
essentially crop residues and weeds.
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